Warm Up 9/4/18

1. Order the following from least to greatest:
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2. Simplify: |-10 + 8| - |3 + 9|
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3. Simplify: [12 + 5| + |-4 + -3| - 1
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The jacket(costs

There is agomg on and the jacket is on
sale. |How mucl'{wﬂl the jacket cosf—kn‘ ter the dlsgggg:_lgrg
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James buys a video game for his Xbox for a
controller fo and a walk Throu h manual for
@ The sales/tax|in his area | What will
be the[total costjof his purchase?
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A ecTanguIa room has anfareg of(131 1/4 Fquare feet |

TThe. room is m eet|what is the width

of the room? ﬂ:f w
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At a store Susan selected a pumpkm that weighed @
m Pumpkins cost($1.80}per pound and there ard 16

ounces in(1bound. How much did Susan's pumpkin cost?
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A recipe requires % Ibjof onions to make€§ewing§f soup. Mark}f

onions.{How many|servings can Mark make?
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he/pricelof a the, icket increased fro@ The theater sold
@)‘jﬂ!ﬁ!ﬁ at thelhigher price) With the price mcrease ow much more did the

eater earn on the tickets?
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r'om Charlotte, NC to Morgantown, WV is

and the{distance] from Charlotte, NC to
Columbus OH isd26. mlles Wht‘.ﬂ'ls the differencein
distance?
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Th of rectangular prism |s nches\where the
of The. same i rism is mm It The. of

what is the height of the prism?

'I‘he. rlsmls
[v=lwh l V_ Eu) h
3

T 7~ 35
yss . st
0 © 2K |
C 533 .54 _333
)10%3 ™ =5 \‘f‘g%\
LR O .
(03" 7oy




